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(a)

rlec in PI-lSQI-
(b) the help of an example, explain the L6op-End l-oop statements ol

SOL
te a short note on nested table

What is the role of NULL values in PLISQI- ?
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on(ii) Dependency - Presen'ing

control. State

the 2 Phase I-ocking protocol

(d) State the different
in brief.

structures. )ixplain any two of them

(e) Define deadlock.
deadlock.

explain the differ:nt policies for preventing a

betrveen r,,ptimistic and pessirnistic conciirrency
phases in optimistic concurrency control.
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(e) Write a Pt,/SQL block that accepts the or,vner name l'rom the user. "lhe

Lrser narle cau be SYS, SYSTEVI, IIR or SCOTT. The username can be

SYS the print the result as "Orvner is SYS", If it is SYSTEM, then print
the result as "Orvner is SYSTEM" and so on. Write the code using CASI1
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5. Attempt
(a)

(b)

(c)

(0

15

.l_.q'
s-'

"*fl:n, zzsg-ts.

.gs

,€afo

liom the table square (num, sq) and store it under sc1 in the given
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(d) What are cornmit, savepoir:t and rollback ?

exarnples.
their usage rvith
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explain the queries to generate using sequence. :\lso explairt
hor,v to display the next current value of the sqr-rence

WW conflicts.
diffbrent actjons in a database log record

Opc'raters in I']l.iS QI-.
(d) llxplain the di betr,veen cursor fbr loops anci pararneterizecl cursurs.
(e) State and j Write l{ule.

the artributes of a clrrsor
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